1717y - 4AVIS iy B RSN Y Tt SE RS IR

*

———.

/nq:y s I T X Fc Cméfq%} 0 Colirsre

-c'om% (OLD COURSE) PL-2004

SY8cor (3 Hours) [Total Marks : 100

N.B. :(1) All questions are compulsory.
(2) Write answer of both the sections in the same answer book.
(3) Figures to the right indicate full marks.

Section I
1. {a) Explain the 'National Human Rights Commission’.
OR
Explain the right and law related to Women. | 8
(b} Explain the disadvantage of Science. '
' OR
- Explain the advantage of Technology.

2. (a) Discuss in briefly the Right to Freedom provided in the Indian cosntitution.
' OR
'Expiain the function and powers of 'National Commission for Scheduled Tribes’. 6
(b} Explain the characteristics of science.
OR
Explain the differences between Science and Technology.

3. (a) Explain the role of NGO in protecting Human Right.
" OR :
Discuss the people¥ movement in India. | 6
(b) Explain the contribution of C.V. Raman to science. |
OR '
Explain the contribution of Newton to science.

4. (a) | Explain the 'Child Labour Prohibition Act-1986".
OR _
Explain the ‘National Commission for Minorities Act - 1992'. - 6
(b) Explain the importance of Chipko Movement.
OR
Explain the scope of Science.
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Section. il

5. {(a) Discuss the value of environmental ethics for the existence of human beings.

(b)

(b)

(b)

8., (a)

(b)

OR

Explain the environmental degradation because of Urbanization.

Explain the weaknesses of Sonography.
OR
Write a note on Nuclear Power.

Explain the role of human being in protecting the environment.

OR

Explain the relation between environment and health.

Explain the applications of LASER technology.
OR

What are the advantages and disadvantages of Information technology.

Discuss the effects of disaster on human life.
OR
Explain the causes of environment degradation.
Write a note on Nano Technology.
OR
Explain the Cyber Crimes.

Expiain the types of Waste Management.
| OR .
Explain the advantages and disadvantages of Dams.
Expiain the meaning of ‘Cloning’.
OR

What is the Bio-technology 7 Bring out its hazards.

——————————————
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Con. 68-15, (REVISED COURSE)

N.B. :(1) From Section I, attempt any three questions from Q. No. 1 to § and

R

10.
11.
12.

(3 Hours)

(. No. 6 is compulsory.

(2) From Section II, attempt any three questions from Q. No. 7 to 11 and

Q. No. 12 is compulsory.
(3) Figures to the right indicate full marks,

_ Section 1
Explain the violation of Women Rights.
Explain the causes of environmental degradation in detail.
Explain the relationship between Science and Technology.

Explain verbal and non-verbal communication.

Explain the impediments in free and compulsqry education.

Write short notes (any two) —
(a) Healthy Environment
(b) Body language
(¢} Natural calamity
(d) Air pollution.

Section 11
Explain the Three Step Structure of consumer coutt.
Discuss the functions and types of Ecology.
Discuss in detail the use of Nano-technology.
What is goal setting ? Explain its types.
Give the features of rural society.

Write short notes {any two) —
(a) Waste management
(b) Language theory
(¢) Disadvantages of Sonography
{(d) Environmental Ethics.
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N.B. :(1) Attempt any three questions from each section.
(2) Tie both sections together.
(3) Figures to the right indicate full marks.

Section |
- 1. {(a) Explain the role of advertising in the modern world. 8
(b) How advertising is different from publicity ? 8
2. {(a) Ixplain the importance of market segmentation. . 8
' (b) How does advertising raise standard of living ? 8
3. (a) Bring out the need for advertising research. 8
(b) What are the causes of waste in advertising ? 8
4, {(a) Explain the factors that dctefminc advertising budget. 8
-+ (b) How does the enquiry tests helps in evaluating advertising effectiveness 7 8
5. {(a) Distinguish between product and brand. 8
(b) What are the essentials of good poster ? 8
6. Write short notes any three of the following ---~ 18
(a) Packaging {d) Heading
(b) Good Slogan (e) Product Life Cycle
{¢) DoordarshanCode ~ (f) Internet Advertising.
Section 11
7. (a) Explain the steps in media planning. 8
(b) Explain the functions of Advertising agency. 8
8. (a) Discuss different types of buying motives, 8
(b) Explain the need and importance of Advertising Research. 8
9. (a) Distinguish between buying motives and selling points. 8
~ (b) Bring out the importance of illustration in advertising. 8
[ TURN OVER
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10. (a) Explain the steps in visualisation, ST e 8
(b) Discuss the different types of layout in advertising. . 8
11. (a) What do you mean by AIDA formula ? 8
(b} Discuss the future of advertising in India. 8
12. Write short notes any three of the following — 18
(a) TRP |
(b) Window Bisplay
(¢) Outdoor Advertising
(dy Client Turnover
(¢) Culture Values
(f) Television Advertising.
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(3 Hours)  [Total Marks : 100

N:B. :(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Tie both sections together.

Section 1
1. Explain the following terms (any three) 10
(a) Advertising ~ {f) Buying Motives
{b) Slogan (g) Publicity
{¢) Political Advertising (h) Transit Advertising
(d) Clutter (i) Client Turnover
(e) TR.P. (i) Media.
2. Answer the following (any three) i— 30

(a) Explain the role of advertising in modern world.

{b) Explain the concepts of production cost and distribution cost,
(¢) What are the functions of Advertising Agencies ?

(d) Explain the concepts of Product Research and Media Research.
(e) Explain the active participants in advertising.

(f) Bring out the need for media research.

3. Write short notes on (any two) :— : : 10
(a) Salesmanship
(b) Modelling
{¢) Internet Advertising
(d) Ethics in Advertising.

Section 11

4. Explain the following terms (any five) :— | 10
(a) Testimonial (O Selling Skill
(b) Layout (g) Caption
{¢) Headline (h) Illustration
{d) AIDA (i) Indoor Advertising
© (e} Brand (i) Copy.
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5. Answer the following (any three) 1 | 30
(a) What are the essentials of good copy ?
(b) Explain the importance of advertising Research.
(¢) Describe the objectives of advertising campaign.
(d) Explain post-testing methods of testing advertising effectiveness.
(e} Why advertising budget is requried 7
(f) Explain the concept of Visualisation and Demenstration.

6. Write short notes on {(any two) — 10
(a) Types of Customers
(b) Types of outdoor Advertising
{c) Window Display
(d) Logo.
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N.B. :(1) Attempt any five questions.

(2) Figures to the right indicate full marks.

{3 Hours) [ Total Marks : 100

1. (a) Who can be termed as company secretary ? What are his duties ? 10
(b) Explain the liabilities of a Company Secreatary. 16
2. {(a) What is a company ? What are distinctive characteristics of a company ? 16
{(b) What is the procedure for making calls ? 19
3. (a) What is ‘Memorandum of Association’ 7 Describe its clauses. 10
{b) What is Debenture Capital 7 What are kinds of debentures ? ' 10
4. (a) What do you mean by “Quorum™ ? Explain legal provisions regarding quorum. 10
(b) When can a company forfeit its shares ? 10
5. (a) What are rights and powers of an Auditor of company ? 10
(b) Explain different kinds of shares. 10
6. (a) Explain different methods of voting. 10
(b} What is a “Proxy” ? What are his powers ? ' 10
7. {a) What are duties and powers of chairman of company meeting 7 10
{b) Explain the procedure of Transfer of Shares. 10
8. Distinguish between any two of the following — 20
(a) Motion and Resolution (¢} Agenda and Minutes
(b) Dividend and Interest (d) Equity shares and Preference Shares.
9. Give Specimen of any twe of the following — . 20
(a) Notice of Annual General Meeting (c¢) Call Reminder
(b} Letter of allotment (d) Dividend Warrant
10. Write short notes on any four of the following :— 20
(a) Register of Members {(d) Board Meeting
{b) Underwriting of Shares (e¢) Lien on Shares
{c) TableA (f) Managing Director.
| TURNOVER
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177y ~ 2045 Businese Laws

N.B. :(1) Attempt all questions.
(2) Figures to the right indicate full marks.
(3) Write the answers of both the sections in one answer book.

Section 1

1. Explain the following terms any five :—

(a)
(b)
{c)
{d)

Consideration (e) Hire Purchase
Novation (f)y Quasi Contract
Holder in due coursc (g) Pledge
Endorsement (h) Unpaid Seller.

2. Answer any three from the following :—

()
(b)
©)
(d)
(e)
()

“No Consideration No Contract”. Discuss with suitable examples.

What are the various types of Bailment’s ?

What are the differences between Wagering Agreements and Contingent Contracts 7
Define “Agreement”. State the essentials of valid agreements.

What are the various modes of discharge of contract 7

What is offer ? Distinguish between offer and invitation to offer with appropriate
examples.

3. Write short notes on any two —

(a)
b
(©)

-Doctrine of Caveat Emptor

Rights and duties of agents
Dishonour of Cheque.
Section 11

4. Explain the following terms any five -

()
(b)
(c)
(d)

Articles of Association (e} Disputes
Company ' (fy Appeals
Prospectus (g) Cheques
Sale (h) Appointment of Director.

5. Answer any three from the following :—

(a)
(b
©

(d)
(e)
®

Define Partnership. Discuss in detail Minors position in Partnership.

What is Co-operative Society ? Distinguish between Bye laws and Model Bye-Laws.
Who is consumer 7 Why he needs protection ? Discuss.the working of various
commissions established under Consumer Protection Act.

What is Company ? What are the features of Company ?

What is Memorandum of Association 7 Discuss its various clauses if any.
What are the various types of societies under Co-operative Societies Act ?

6. Write short notes on any two ——

(a)
()

Partnership at Will (¢) Outgoing Partner
Jurisdiction of State Commission (d) Public Company and Private Company.

o e b e e e e e
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Con. 65-15. {(OLD COURSE)

N.B.

&

SY Beors

My -2 015~

1(1) Question Nos. 1 and 6 are compulsory.

(2) Attempt any two more questions from each section,
(3) Figures to the right indicate full marks.

(4) Draw neat diagrams wherever necessary.

. {a)

(b

(a)
(®)

(a)
(b)

(a)
(b)

Section [

Explain the following concepts —
(i) Trade cycles
(11) Full employment
(111} Money Supply
(iv) Deflation
Distinguish between
(1) Primary sector and Secondary sector in Indian economy

- (i) Open economy and Closed economy

Discuss the circular flow of national income in an open economy.

Explain the various phases of a trade cyele.

Discuss the new measures of money supply in India.
Explain the Keynesian approach to demand for money.
What are the causes of inflation ? _
Briefly discuss the measures“to control inflation.

erte note on any two of the following :—
(a) Working of multiplier
(b) Determinants of money supply
(¢) Equilibrium of the economy with the help of IS-LM curve
(d) Impact of Globalisation on empioymeni in India.

(a)

(b)

Section I

Explain the following concepts —
(i) Small scale industries
(ii) Special Economic Zones
(iii) Human development
(ivy Knowledge economy.
Distinguish between —
(1) Nationalisation and Globalisation
(i) Public sector enterprises and Private sector enterprises.

PL-2022
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7. {a) Explain the causes of low agricultural productivity in India. 8
(b) Examine the impact of WTO on Indian agriculture. 8
8, (a) Discuss the policy measures to 'promotc SSis after 1991 in imﬁa. 8
(b) What are the adverse impacts of SEZs in India 7 8
9. (a) Explain the Millennium Develpment Goals 2000.
(b) Discuss the need to promote ‘inclusive growth’ in India. 8
10. Write short notes on any two of the following — 16
(a) Role of agriculture in Indian economy
{b) Problems of Service sector in India
{¢) Disinvestment policy in India
(d) National Population Policy, 2000.
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Con. 2022-15. (REVISED COURSE) | PL~2022

{3 Hours) {Total Marks : IIOG

N.B. :(1) Question Nos. 1 and 6 are compulsory.
(2) Attempt any two more questions from each section.
(3) Figures to the right indicate full marks.
(4) Draw neat diagrams wherever necessary.

- . Section 1
I. (a) Explain the following concepts (any four) :-—
(1) Business cycle (iv) Commercial bank .
-(ii) Super Multiplier (v) Velocity of circulation of money
(iii) Demand for money (vi}) Bank Rate.

(b} Distinguish between {(any two) —
(i) Aggregate demand and Aggregate supply
(ii) Demand pull inflation and Cost push inflation
- (i) IS curve and LM curve.

2. (a) Explain the process of income generation in an 'open' economy.
{(b) Explain the various phases of a trade cycle.

3. {(a) Discuss the determinanats of money supply.
(b) Explain the Keynesian approach to demand for money.

4. (a) Explain the assets and liabilities of a commercial bank.
(b) Explain the meaning and objectives of fiscal policy.

5. Write note on any two of the following —
(a) Working of multiplier
(b) RBTI's approach to measurement of money supply
(¢} Causes of inflation in India
(d) Money multiplier.

Section Il
6. (a) Explain the following concepts (any-four) e
(i) Disinvestment (iv) Competition Act
(if) Inc¢lusive growth (v) Public sector banks

(i1i) Food security (vi) NPA's

Pa-upa-FH 16 DA 8 :- - [TURNOVER
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(b) Distinguish between (any two) — 8
(i) Primary education and Higher education
(i) Agriculture and Industry
(ii1) Rural unemployment and Urban nnempioyment in India.

Qe

7. (a) Critically examine the New Industrial Policy, 1991.
~ (b) Explain the causes of unemployment in India. 8

[»

8. (a) What are the causes of low agricultural lproéuctivity in India.
(b) Discuss the role of small scale sector in Indian economy. 8

oL

9. {(a) Explain the impact of banking sector reforms in India.
(b) Explain the important development functions of RBI. ' ' 8

10. Write notes on any twe of the following — 16
(a) Human development through health -
(b) Need to promote “Inclusive growth’ in India
{¢c) Agreement on agriculture (AoA)
(d) Measures to control inflation in India.
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Con. 84-15. ~ (OLD COURSE) s  PL-2033
SYBcor B

- May -2els |
N.B. :( 1) All questions are compuisory :
(2) Figures to £he rlght mdzcate full marks a551gneci to the questmns

(3 Hours) ' ,[Totai_, Marks : 100

Section .{ o

1. Explain any five of the following terms ~~~~~ _ S 10 -
“(a) Order- _ : (¢) Quality 7 '
(b) Span of Control (D Line Organisation .
(¢). Planning -~ {g) ABC Analysis
(d) Decentralisation : ©(h) Productivity. .

Answer any-three of the following — ' : . 38
(a) Explain importance of Management.. ' I .
(b) Discuss various steps in planning process.

(c) State and explain various bases of Departmentatmn
(d) Explain various inventory costs.

(e) Write a note on “Matrix Organisation’.
H Explain diﬁ'erent dimensions of Quality.

. 3. Write short notes on any twct of the following — R . 10

(a) ScalarChain - * - o
(b) Formal v/s Informal Organzsation _ :
(c) Techniques of inventory con{rp -

(d) Centmuous Production System
'  Section }Z

4. _Expiam any five of the foikowmg terms - 0 R 10
(a) ‘Stock ExchangeMarket .~ () Commerczal Paper R o

(b) Primary Market () Capital Market .

(c) Shares - () Risks and retiths

(d) 'Working Capital | (h) ‘Fixed Capital.

5. Answer any three of the followmg —_— ' ' ' BT ‘_.319 -
" (a) Explainvarious factors influencing Capztai Qtructure R -
~ (b) Discuss various objectives of Corporate Finance. ,
(¢) Explain different advantages of Credit Rating Agenczes o
- {d) Explain different sources of working capital.
(e) Discuss different advantages of Foreign Direct Investment.
(f) Explain in brief the concept of Deposition System.

[ TURN OVER
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6 Read the foiic}wmg caselet and answer the followmg questions gzvxzn below. |
| Mr Girish Uphadye is an eminent artist. He wants to set up his own art of school. He
is into idol makmg business. He looks forward for venture capital. -

Questlons : -
(a) Test the viability of Mr. Gmsh Uphadycs business. : ‘ 5

(b) Explain in brief different advantages enjoyed. by Mr. Girish ﬂphadye after 5

avaximg venture capltai
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(REVISED COURSE) . s
(3 Hoursl) _ ['i.‘otai.i\_/iarks : 100

(1) Al questwns are compulsory.
(2) Figures to the right indicate full marks 3351gned to the questions.

(3) Draw medeis/dtagrams wherever necessary.
Seetion T

. 1. Answer any two of the following .— ' 20
(a) Discuss in brief any eight principles of Management propozmd{,d by Henry F ayol
{b) Explain various advamageq of Management by Exccptlon :
(¢) Discuss various components of planning.
(d) Explain different advantages of MBO.

2. Answer any two of the following :— - ' 20
(a) Explain different factors determining Span of Control | ' |
(b) Explain various bases of Departementation.
(¢} Discuss in brief scope of Corporate Social Responmbziz‘cy
(d) Discuss various ways to manage stress.

3. Write short notes on any two of the followmg e N 10
(a) Managerial Skills - |
~ (b) Steps in planning process
(c) Effects of Stress |
(d) Barriers to delegation.

Section 11

- 4, Answer any two' of the foliowmg _— | ' B - 20
(a) Explain various objectives of Production ?iannzng & Control." R
(b) Discuss various factors responsible for Productivity. '
(¢) Explain the process of Quality Cotrol. -
(d) "Bxplain the procedure for obtaining ISO certification.

5. Answer any two of the following : . : 20
| (a) Explain various functions of Stock Exchange. ' :
- (b) Discuss various advantages of Credit Rating Agencies.
(¢) Discuss different factors responsible for growth of Mutual Funds.
(d) Explain various features of Venture Capital.

[TURNOVER
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6. Write short notes on any twe of the foﬂowmg —
(a) Objectives of Inventory Control :
(b) Role of Primary Market
(c) CRISIL
(d) Features of Future Contracts.
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Con. 80-15. (OLD COURSE) '~ PL-2066
SYBCOY (3 Hours) [ Total Marks : 100

| meay-~20lsT |
N.B.: {1) From Section |, Questions Nos. 1 and 2 are compuisory and attempt any
one guestion from gquestion Nes. 3 and 4.
(2) From Section i, Questions Nos. 5 and 6 are compulsory and attempt any
one guestion from question Nos. 7 and 8.
{3} Figures io the right indicate full marks.
{4) Working notes shouid form part of your answer.

Section |

1. Pranav and Harsh carried on business in partnership, sharing profits and losses in
the ratio 3:2 they admitted Param on 15! April, 2013 giving him 1/8!" share. He brought
¥ 2,00,000 as his capital and ¥ 50,000 as his share of goodwill,

'The Trial Balance of the firm as 315! March, 2014 was as foliows

Particulatrs Dr. ¥ Cr. ¥
Capital A/cs :
. Pranav ' — | .315600
Harsh | — | 242400
 Sales’ ' — | 485280
Trade Creditors : S 59000
Plant & Machinery | - | 160000 —
Computer . 146000 e
Office Premises . 265000 —
Sales Returns : 5260 e
Purchases - ; _ 345120 —
Stock as on {18! April 2013) . " 164200 —
Salaries 35420 —
Sundry Expenses . : : 54260 —
Insurance : 36000 —
Purchase Retums : — 5120
Wages - : ' - 12000 | 0 e
Cash on Hand ' , : 12880 —
Debtors ' 41250
Provision. for Doubtful Debts | — | 2130
Cash at Bank ' 42160 e
Drawings : Pranav 19500 —
Harsh 12500 | 0 e
Param ' 14500 —
Loan from Harsh at 10%p.a. (taken on January 1, 20'%4) - | 55000
Goodwill 36000 | —
Travelling Expenses | 12460 —
Cash brought in by Param — | 250000
- | 1414510 |1414510

J— - — N
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You are given the following additional information ~

(1) - Stock on 315t March, 2014 was valued at T 2,086,300

(2} A debtor of ¥ 1,250 is to be written off and provision agamst the remaining
debtors should be made at 5%.

(3) Provide for the following outstanding expenses as on 315! March, 2014 :
Sundry Expenses ¥ 2,800, Salaries T 3,000 and Wages ¥'1,200.

{4) Insurance prepaid as on 31st March, 2014 ¥ 2,500.

(5) Depreciate following assets as given below :

Rate of Depreciation
Plant & Machinery 20% p.a.
Computer 25% p.a.
. Office premises . 5% p.a.

(8) Param is entitled to receive rent T 1,000 p.m.

You are required to prepare -~

(1) The Trading and Profit and Loss A/c. for the year ended 31 March, 2014.
{2) The Balance sheet as on that date.

2. (a) Rewrite the following statements and then State whether they are true or false :-—

(1)
(@)

Partner can be admitted only on the first day of the accounting year.
On disselution of partners capital is paid first and then outside liabilities
are paid.

Goodwill brought in by new partner is shared by old partners in their
capital ratio.

As per Partnership Act, 1932 no interest can be charged on drawings
of a partner.

If a partner takes over any asset his capital account is Debited.
Interest paid on pariners capital is debited to Profit and Loss Appropriation
Alc,

In pzecemeal distribution, when all the partners are solvent, profz% or
loss on realization is shared by all pariners in their profit sharing ratio
Goodwill pa[d {o retiring pariner is borne by contmumg pariners in
their Gain ratio

Rewrite the statements given in Group A with the corresponding most approprlate
statement from Group B -

Group A Group B
Dues to employees Sacrifice Ratio
Piecemeal Distribution I Separate current a/c is not opened

Heserve for dissolution Expenses| Gain Ratio

Reserve for contingent liabilities | Capital Reserve

Admission of a partner ' Excess Capital Method

‘Hetirement of a pariner Separate account called as partners curren%
~ alc/ is opened

Fixed capital method ' Crated after payment of external liabilities.

Fluctuating capital method Preferential Hability

Created before any amount is paid to anybody.
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3. Pen, Pen01§ and Eraser are partners of M/s. Great Stationers sharing profzts and %osses 16
in the ratio of 1:1:2,

On 30 June, 2014 they, demded to dissolve their firm when their Balance Sheet

‘was as under -

Liabilities T Assetls t
" Capitals : Goodwili 120000
Pen 240000 Building 240000
Pencil 160000 Plant 268000
Eraser 300000 Debtors - 180000
General Reserve 80000 Stock 123000
Loan from Pencil 40000 Bills Receivable 37060
Sundry Creditors 160000 Bank 12000
880000 : 880000

- The realizations and the expenses of realization were as stated below -

Date Realisations ¥ Expenses T
315t July 110060 2000
315t August 340000 16000
301 September 350000 5000
315t October 162000 3000

* You are required to prepare statement to show the piecemeal distribution of cash

‘available under Highest Relative Capital Method.

V[;ay, Uday and Waman were pariners in a firm sharing profits and losses in the ratio 2:2:1

Their Balance Sheet as on 315! March, 2014 was as follows :

lLiahilities ¥ - Assels : g
Creditors _2,15,000' Land &Buiiding 2,G60,000
General Reserve 50,000 @ . Machinery 65,000
Capital : f Furniture 33,000
Vijay T,75,000 | SURdiy debtors 51,200

Uday 1,35,000 Stock - 2,115,600
"Waman © 85,000 Cash in hand 25,800
6,00,000 ' 6,000,000

16

Waman retired as partner from 15t April, 2014 on the following terms —
Goodwill of the firm to be considered to be worth ¥ 2,50,000
It should be raised in the books at its full value and then it shouid be written off.
Land & Building is to be appreciated by 40% and stock is revalued at ¥ 1,70,000.
Machinery to be depreciated by 20%. Debtors of € 3,500 are to be written off as
bad debts and a Reserve for doubtful debts should be created for € 3,500.
Amount payable {0 Waman should be transferred to his loan Alc.
You are required to prepare [~
(1) Revaluation account (2)
(3) Partners capital accounts. (4)

o - [ TURN OVER -

Cash and bank account,
Balance Sheet affer retirement,
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Section Ui

5. Kamal Arts, arzd Rose Crafts decided to amalgamate on the fol Iowmg terms and 18

6.-'

conditions on 18t April, 2014 when their Balance Sheets were as follows -~

Particulars Kamal | Rose Particulars Kamal Rose
Arts Crafis Arts . Crafts
Pankaj's Capital | 86,400 e Buiidings 50,000 | -
FPanna's Capital | 63,600 |  -=wew Fumiture 31,600 48,600
Rina's Capital - 1,12,300 investments 25000 | -
Riya's Capital e 42,200 Stocks 34,100 49,500
Creditors 27,500 15,500 Debtors 40,000 50,000
Bank Loan 12,500 - Cash at Bank 8,300 21,800
1,80,000 | 1,70,000 196,000 {1,70,000

Terms of amalgamation —

(1) In case of Kamal Arts -
{a) Goodwill was valued at ¥ 60,000.
(b} Pankaj took over Bank Loan.
(¢} Investments were taken over by the new firm at ¥ 30,000.
{(d} Building was taken to be worth ¥ 906,000
{e} Stockto be valued at ¥ 32,600,
(fi Provision for doubtful debts to be created at 5 % on debtors.
{(2) In case of Rose Crafts :~ .
' (a) Goodwill was valued at ¥ 50,000
(b)  Stock was valued at ¥ 42,000
{¢) Provision for doubtful debts to be crealed at 4% on deblors.

Other assets and liabilities of both the firms were taken at book values.

You are required to show necessary ledger accounts in the books of Kamal Arts

and Rose Crafts and prepare Balance Sheet of New firm aﬁer Amalgamation,

{a) Rewrite the statements given in Group A with the corresponding most appropriate

statement from Group B~

Group A

Group B

Insurance contract

Trading A/c credit side

- Salvage

Purchase Consideration

Shop soiled goods

Pariners capital a/c credit side

Amalgamation

Partners capital a/c debit side

Goods withdrawn by proprietor

Abnormal goods

Liability taken over by the partner

Includes Interest

Cash price .

Goods saved from fire

Hire purchase price

Contract of indemnity

Contract of partnership

Does not include interest.

8
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{b) Rewrite the following statements and then State with reasons whether zhey are 8
true or false —
(1) Incase of hire purchase buyer becomes the owner of the goods on signinig
the agreement.
(2) Goods saved from fire is called as average clause.
(3) Goodwill is never considered in amalgamation.
(4} In amaigamation of firms new firm must take all the assets of the old firm.
(5) Fire fighting expenses can be claimed from insurance company.
(6) Memorandum Trading a/c is prepared to ascertain stock as on date of fire.
(7} Depreciation is always provided on cash price of the asset purchased.
{(8) Hire Purchsase Price = Cash Price + Interest '
On 181 October, 2014 the premises of Mithila were destroyed by fire, but sufficient 18
records were saved from which the following particulars were found -
Particulars 4
Stock (1.4.2013) 67,200
Stock (31.03.2014) 99,000
Purchases (FY. 2013-2014) 8,38,800
Sales (F.Y. 2013-2014) 10,20,000
Purchases (1.4.2014 1018.10.2014) 4,985,200
Sales (1.4.2014 t018.10.2014) 5,18,000
Stock for the Balance sheet at 31-03-2014 was valued at 10% above cost. During
May, 2014 Mithila had withdrawn goods costing ¥ 25,000. The policy amount was
¥ 1,20,000. The stock salvaged was worth ¥ 29,000. Show the amount of claim to
be lodged with the Insurance Company.
Darshak Transports purchased one Motor Car from Pramukh Hundai on instaliment 16
system on 15! January, 2012. ¥ 90000 were paid on signing the contract and the
balance in three installments of ¥ 75000 each on 315 December every year. The
cash price of the Motor Car was ¥ 277000, Interest charged by the seller was at
10% per annum. :
Darshak Transports charges depreciation @ 20% p.a. on w.d.v. method on Motor
Car on 315t December every Year. Prepare -
{1) Motor Car Alc
(2) Pramukh Hundai A/c
{3} Interest Alc
In the books of Darshak Transports for the Accounting Years 2012,2013 and 2014.
[ TURN OVER
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N.B. :

(REVISED COURSE)
( 3 Hours ) [ Total Marks : 100

(1) From Section |, Questions Nos. 1 and 2 are compulsory and attempt any
one guestion from question Nos. 3 and 4.

(2) From Section i, Questions Nos. 5 and 6 are compuisorv and attempt any
one question from question Nos. 7 and 8.

(3) Figures to the right indicate full marks.

(4) Working notes should form part of your answer.

Section |

Pranav and Harsh carried on business in partnership, sharing profits and losses in 18
the ratio 3:2 they admitted Param on 15t April, 20183 giving him 1/6% share. He
brought ¥ 2,00,000 as his capital and ¥ 50,000 as his share of goodwiil.

The Trial Balance of the firm as at 315! March, 2014 was as follows -

Particulatrs Dr. ¥ Cr. ¥
Capital A/cs . '

Pranav | 315600
Harsh — | 242400
Sales — | 485260
Trade Creditors ' _— 59000
Plant & Machinery 160000 —
Computer : 146000 S
Office Premises . 265000 -
Sales Returns . 5260 —
Purchases 345120 —
Stock as on (15! April, 2013) 164200 —
Salaries 35420 e
Sundry Expenses 54280 -
Insurance _ 36000 . e
Purchase Returns — 5120
Wages ' _ 12000 o
Cash on Hand 12880 e

Debtors 41250 '
Provision for Doubtful Debts — 2130
Cash at Bank _ 42160 —
Drawings . Pranav 19500 —
Harsh 12500 —
Param 14500 —
" Loan from Harsh at 10%p.a. (taken on January 1, 2014} — 55000
Goodwill 36000 s
Travelling Expenses 12460 —
Cash brought in by Param — | 250000
1414510 1414510

(34)
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You are given the following additional information .~

(1) Stock on 315t March, 2014 was valued at ¥ 2,06,300 -

(2) A debtor of 1,250 is to be written off and provision against the remaining
debtors should be made at 5%.

(3) Provide for the following cutstanding expenses as on 315t March, 2014 :
Sundry Expenses T 2,900 Salaries ¥ 3,000 and Wages 1,200,

{4} Insurance prepaid as on 31st March, 2014 ¥ 2,500.

(5) Depreciate following assets as given below :

: Rate of Depreciation
Plant & Machinery 20% p.a.
Computer 25% p.a.

Office premises 5% p.a.

(8) Param is entitled to receive rent ¥ 1,000 p.m.

You are required t{o prepare —

2. (a)

(b)

(1) The Trading and Profit and Loss Alc. for the year ended 315t March, 2014.
(2) The Balance shest as on that date.

Rewrite the following statements and then State whether they are frue orfalse — 8
(1) Partner can be admitted only on the first day of the accounting year. '
(2) On dissolution of partners capital is paid first and then outside liabiiities
are paid.
(3) Goodwill brought in by new partner is shared by old partners in their
capital ratio.
(4) As per Partnership Act, 1932 né interest can be charged on drawings
of a partner.
(5) If a partner takes over any asset his capital account is Debited.
(6) Interest paid on partners capital is debited to Profit and Loss
“Appropriation Alc. -
(7} In plecemeal distribution, when all the partners are solvent, profit or -
loss on realization is shared by all partners in their profit sharing ratio.
{(8) Goodwill paid to retiring partrzer is borne by continuing partners in
their Gain ratio,
Rewrite the statements given in Gmup A w;ih the corresponding most appropriate 8
statement from Group B -—

Group A ' Group B
Dues to employees Sacrifice Ratio -
Piecemeal Distribution Separate current a/c is not opeﬂed

| Reserve for dissolution Expenses| Gain Ratio

Reserve for contingent liabilities | Capital Reserve

Admission of a partner Excess Capital Method
Retirement of a partner Separate account called as pariners current a/c
: is opened
_Fixed capital method - | Created after payment of external liabilities.
Fluctuating capital method Preferential liability

Created before any amount is paid to anybody.

o e U iraTRE MNFeTm
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3. Pen, Pencil and Eraser are pariners of M/s. Great Stationers sharing profits and losses 16 -
in the ratio of 1:1:2.; _
On 30™ June, 2014 they decided to dissolve their firm when their Balance Sheet
was as under — ' :
 Liabilities 3 Assets .
Capitals : Goodwiil 120000
Pen 240000 Building 240000
~ Pencil 160000 Plant 268000
Eraser 306000 Debtors 180000
General Reserve 80000 Stock 123000
Loan from Pencil 40000 Bills Receivable 37000
Sundry Creditors 160000 Bank 12000
o 980000 980000
The realizations and the expenses of realization were as state below -
Date - Realisations ¥ Expenses T
315t July 110000 2000
318t August 340000 10000
301 September 350000 - 5000
318 Qctober 162000 3000
You are required to prepare statement to show the piecemeal distribution of cash
available under Highest Relative Capital Method.
4. Kamal Arts, arid Rose Crafts decided to amaigamate on the following terms and 16

conditions on~15t April, 2014 when their Balance Sheets were as follows —

Particulars ‘Kamal Rose Particulars Kamai Rose
Arts Crafts ' Arts Crafis
Pankai's Capital i 86,400 e Bufidings 50,000 | e
Panna's Capital | 63,800 | weees Furniture 31,600 48,600
Rina's Capital |« 1,12,300 Investments 28,000 e
Riya's Capital e 42,200 Stocks 34,100 49,500
Creditors 27,800 15,500 Debtors 40,000 50,000
Bank Loan 12,500 - Cash at Bank 8,300 21,800
1,890,000 | 1,70,000 190,000 {1,70,000

Terms of amalgamation ~

(1)
(a)

(b)

(c)

(d)

(e)

(f)

In case of Kamal Aris \
Goodwill was valued at € 60,000.
Pankaj ook over Bank L.oan.
Investments were taken over by the new firm at T 30,000.
Building was taken to be worth ¥ 80,000
Stock to be valued at ¥ 32,600.
Provision for doubtful debis to be created at 5 % on debtors.
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(2)

You are required to show necessary ledger accounts in the books of Kamal Aris

In case of Rose Craﬁ's o

{a) Goodwill was valued at ¥ 50,000
(b} Stock was valued at ¥ 42,000
.(c) Provision for doubtful debts to be created at 4% on debtors.
Other assets and liabilities of both the firms were taken at book values.

and Hose Crafts and prepare Balance Sheet of New firm after Amalgamation.

Section

5. Balance Sheet of Shiva Ltd. on 31! March, 2015 was as under.

T Assels

Liabilities <
10% Preference share of T 100 5,00,000 | Fixed Assets 11,00,000
each, fully paid. '
Equity share of T 10 each, fully paid.| 10,00,000 | investments 4,00,000
Securities Premium 4,00,000 1 Bank 80,000
General Reserve 3,00,000 | Other Current Assets 14,00,000
8% Debentures of ¥ 100 each 4,00,000 | Preliminary expenses;, - 10,000
Current Liabilities’: 4,00,000 ' —
30,00,000 30,00,000

On the above date the company decided to redeem its Preference shares at 10%
premium. For this purpose the company sold its investments at a profit of 10% and
- issued 25000 Equity shares of ¥ 10 each at par. Preference Shares were duly redeemed.
All the money under new issue was received and all money on redemplion was
paid. ‘You are required to give necessary journal entries for the above transactions

keeping in view all the {egal requirements.

8. (a)

Rewrite the statements given in Group A with the corresponding most appropriate

statement from Group B -~

- Group A

Group B

Securities Premium

Reserve

.Can be used for creating Capital Redemption

interest on 8inking Fund invesiments

Preference share redemption

General reserve

Shop soiled Goods

Debenture Redemption

Redemptlion Reserve

Can not be used for creating Capital

Capital Redemption Reserve

Credited to Sinking Fund

Abnormal Goods

Average clause

nder insurance

Goods saved from fire

| Saivage

Credited to 8inking Fund Investments

Contract of parinership

[ TURN OVER
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(b) Rewrite the following statements and then State wzth reasons whether they are
frue or faise.

(1)
(2)
(3)

8

Preference Shares can not be redeemed at premium.

Rights shares are issued free of cost.

loss from abnormal goods destroyed by fire can not be claimed from
insurance company.

Divisible profit means profit which can be divided among shareholders
and debeniure holders,

Capital redemption Reserve can be utllized only for issue of bonus shares.
Redemption means repayment,

Securities Premium can be used for providing premium on redemption
of preference Shares. :
Goods saved from fire are called as salvage.

7. On1gh Octobér, 2014 the premises of Mithila were destroyed by fire, but sufficient 16"
records were saved from which the following particulars were found :—

Particulars ' z
Stock (1.4.2013) | 67,200
Stock (31.03.2014) | 99,000
Purchases (F.Y. 2013-2014) 8,38,800
Sales (FY. 2013-2014) 10,20,000
Purchases (1.4.2014 t018.10.2014) 4,985,200
Sales (1.4.2014 1018.10.2014) 5,18,000

Stock for the Balance sheet at 31-03-2014 wasvalued at 10% above cost, 'During
May, 2014 Mithila had withdrawn goods costing ¥ 25,000, The policy amount was

¥ 1,20,000 The stock salvaged was worth ¥ 29,000, Show the amount of claim to

be lodged with the insurance Company.

8. Anuja Medical Suppliers Lid. gave notice of its intention to redeem its 8% Debentures,

amounting ¥ 8,00,000 of ¥ 100 each at a premium of ¥ 10 per debenture and offered

-the debenture holders following three opt%ons, to apply the redemption money 1o
subscribe for i~

(@) 8% Preference shares of ? 100 each at ¥ 105 per share.
(b) 12% debentures of € 100 @ T 96 per debenture.
(¢) To have their holdings redeemed for cash.
Debenture holders of 2100 accepted proposal (a)
Debenture holders of 1440 accepted proposal (b)
Remaining debenture holders accep’reci proposal (c) -
Pass necessary Journal entries to recorci above transactions in the books of the

company.
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